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Eletrostática
Lei de Coulomb

<latexit sha1_base64="lZowBqyiU6G5cNtl7VtApREYSDQ="></latexit>
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Eletrostática
Lei de Coulomb
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~ = ~R� ~r

<latexit sha1_base64="tVwsJJWqeONSkNvoGL1PULaAXM4="></latexit>
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Eletrostática
Campo elétrico

<latexit sha1_base64="tVwsJJWqeONSkNvoGL1PULaAXM4="></latexit>
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Eletrostática
Campo elétrico

<latexit sha1_base64="tVwsJJWqeONSkNvoGL1PULaAXM4="></latexit>
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<latexit sha1_base64="QTKF/lhVxIvVuuruXba1Y2VJaFY="></latexit>
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Eletrostática
Distribuição de cargas

<latexit sha1_base64="QTKF/lhVxIvVuuruXba1Y2VJaFY="></latexit>
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Eletrostática
Distribuição de cargas

<latexit sha1_base64="QTKF/lhVxIvVuuruXba1Y2VJaFY="></latexit>
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<latexit sha1_base64="dcpXlVOInueQTXtirwuOhMBy/CU="></latexit>
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Eletrostática
Distribuição de cargas

<latexit sha1_base64="QTKF/lhVxIvVuuruXba1Y2VJaFY="></latexit>
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<latexit sha1_base64="6m5/aP0+ZLy2uDn2hvvgEgaektw="></latexit>

dq =

8
><

>:

� d` (linear)

� dA (superficial)

⇢ d⌧ (volumétrica)



Eletrostática
Exemplo: Distribuição superficial

<latexit sha1_base64="dcpXlVOInueQTXtirwuOhMBy/CU="></latexit>
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<latexit sha1_base64="+snI/PiDFS1ilHXBJVCdFzcbfzE="></latexit>

dq = ⇢(~r) d⌧

<latexit sha1_base64="Gu+NveZXz60tyIRB50GJ479GONc="></latexit>
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